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wait_mark;
waiting(),stop();
main()

Pl, p2;
signal( ,stop);
while((pl=fork())==-1);
if(pl>)
i

while((p2=Fork())==-1);
if(p2>0)
i

wait_mark=";
waiting();
kill(pl, 19);
kill(p2, );
wait( );
wait( );
printf(
exit(");
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exit();

} else

i
wait_mark=";
signal( ~,stop);
waiting();
lockf (', ,0);
printf(
lockf(1,0,0);
exit();

wait_mark=";
signal( ©,stop);
waiting();
lockf( ', ,0);
printf(

lockf( 0, 0);
exit();

waiting()
while(wait_mark!=");
stop()

wait_mark=";

[root@hadooplO® experiment_005]# gcc signal.c -o signal
[root@hadooplO® experiment_005]# ./signal

*Cchild process 2 is Rilled by parent!

child process 1 is killed by parent!

parent process is killed!

[root@hadoop100 experiment_0051# [

o LB HRESF signal (SIGINT, stop) JLAE /*(1) */H /%(2) */{H&
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wait_mark;
waiting(),stop();
main()

Pl, p2;
signal( stop);
while((pl=fork())==-1);
if(p1>0)
i
Bignal( ,stop);
while((p2=fork())==-1);
if(p2>0)
i
signal( ,stop);
wait_mark=";
waiting();
kill(p1,
kill(p2,
wait(
wait(
printf(
exit(7);

wait_mark=1;
signal( ', stop);
waiting();
lockf(1,1,9);
printf(
lockf(1,0,0);
exit(0);

wait_mark=1;
signal(1o,stop);
waiting();
lockf(1,1,0);
printf(
lockf(1,0,0);
exit(0);




waiting()
while(wait_mark!=");
stop()

wait_mark=";

[root@hadooplo® experiment_005]# vim signal2.c
[root@hadoople® experiment_005]# gcc signal2.c -o signal2
[root@hadooplP® experiment_005]# ./signal2

"Cchild process 2 is killed by parent!

child process 1 is killed by parent!

parent process is killed!

[root@hadooplP® experiment_005]# I

AR BUATTH #B 20 T P4 wait(0), A4 ?
wait(0) {5 ik H BTERE AT, BHRME S RBIs 7R A, WRAEHH wait(0) ¥
Bt RO, W wait(0) 2 3LRIR Al 53R AR E -
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main( argc, *%argv)

fd;
if (argc < )
{
fprintf( , argv[©])
exit(');
3

if ((fd = open(argv['], O_RDONLY)) < ©)
{

fprintf(

exit(');
}

fprintf( ,
buffer[BUFFER_SIZE];
n;

while (1)
1
EEROR
if ((n = read(fd, buffer, BUFFER_SIZE)) < )
i
if (errno == )
i
goto again;
¥
else
1
fprintf(
exit();
}
3
else if (n == ©)
i
fprintf(
break;
}
else
i
buffer[n] =
fprintf(
3
3

return ©;

, argv['], strerror(errno));

, argv[©]);

, argv['], strerror(errno));

, n, buffer);




signal_handler(
main( argc,

fd;
if (argc < )
{
fprintf(
exit(1);
}

signal( , signal_handler);

if ((fd = open(argv[ ], O_WRONLY)) < ©)

1
fprintf( , argv['], strerror(errno));
exit();

}
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fprintf( ) , argv[©]);

buffer[BUFFER_SIZE];
n;
while (fgets(buffer, BUFFER_SIZE, ))
{
ELESH
if ((n = write(fd, buffer, strlen(buffer))) < °)
i
if (errno == )
i
goto again;
3

else

i
fprintf( , strerror(errno));
break;

return

signal_handler( s)

fprintf(

o QI EIER

7115



main( argc,

if (argc < )

1
fprintf( , argv[©]);
exit( );

¥

if (mkfifo(argv[ ],
i

fprintf( , strerror(errno));
exit( );
¥

return '

o YmPFiaAT
[root@hadooplBl experiment_005]# gcc read_fifo.c —o read_fifo
[root@hadooplO® experiment_005]# gcc write_fifo.c —o write_fifo
[root@hadooplO®@ experiment_005]# gcc create_fifo.c -o create_fifo
[root@hadooplO®@ experiment_005]# ./create_fifo /tmp/fl

[root@hadooplO® experiment_005]# 11 /tmp

EFE 588

prw-r--r--. root root 0 115 20 11:45 f1

drwx . root root 24 114 12 19:57 ssh—GpVEgnbbHFht
drwx . root root 24 114 18 20:16 ssh-Jzzvc7911VFa
drwx . root root 24 114 20 11:16 ssh-KVtD791sJudaZ

[root@hadooplO® experiment_005]# ./write_fifo /tmp/f1
open fifo ./write_fifo for writting successed.
how"H*H"H*H"H

hello, god !

52
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[root@hadooplO® experiment_005]# ./read_fifo /tmp/fl
open fifo ./read_fifo for reading successed.
read 9 bytes from fifo: how

read 13 bytes from fifo: hello, god !

Wit 5 iR

"C
[root@hadoop100 experiment_0051# [

PRt th H BT

[root@hadooplO® experiment_005]# ./write_fifo /tmp/f1
open fifo ./write_fifo for writting successed.
how"H"H"H"H"H

hello, god !

nice

Caught signal 13
write() failed on fifo: Broken pipe
[root@hadoop100 experiment_0051# [

- BT IEAAFEERRIE S
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pid;

buf[N];

} shmbuf;

handler( signo)

return,

main( argc, *xargv[])

shmid;
key_t key;
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pid_t pid;
shmbuf *shmaddr;

signal( , handler);
if ((key = ftok(' ", N <N
{
perror( );
exit(-1);
}
if((shmid = shmget(key, sizeof(shmbuf), IPC_CREAT|IPC_EXCL| )) <
{
if (errno == )
{
shmid = shmget(key, sizeof(shmbuf), );
shmaddr = (shmbuf *)shmat(shmid,
pid = shmaddr->pid;
shmaddr->pid = getpid();
kill(pid, );
}

else

{

perror(
exit(-1);

shmaddr = (shmbuf *)shmat(shmid,
shmaddr->pid = getpid();
pause();

pid = shmaddr->pid;

while (
i
pause();
if ( strncmp(shmaddr—>buf,
{
break;

}

printf( , shmaddr->buf);
usleep( .
kill(pid,

}
shmdt(shmaddr) ;

return U,

)




pid;
buf[N];
} shmbuf;
handler( signo)

return;

main( argc, *argv[])

shmid;
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key_t key;
pid_t pid;
shmbuf *shmaddr;

signal( , handler);
if ((key = ftok( , )) < 0)
{

perror( );
exit(-1);

}
if((shmid = shmget(key, sizeof(shmbuf), IPC_CREAT|IPC_EXCL]| ))
{
if (errno == )
{
shmid = shmget(key, sizeof(shmbuf), );
shmaddr = (shmbuf *)shmat(shmid,
pid = shmaddr->pid;
shmaddr->pid = getpid();
kill(pid, );
}
else
{
perror(
exit(-1);
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shmaddr = (shmbuf *)shmat(shmid,
shmaddr->pid = getpid();
pause();

pid = shmaddr->pid;

while (

printf( );

fgets(shmaddr->buf, N, );
kill(pid, );
if (strncmp(shmaddr->buf,

{

break;

}

pause();
}
sleep(1);
shmdt(shmaddr) ;
shmct1l(shmid, IPC_RMID,

return ©;

o IBATARHG

[root@hadooploo experiment_005]# géc shm_read.c -o shm_read
[root@hadooplP® experiment_005]# gcc shm_write.c -o shm_write

[root@hadooplP® experiment_005]# ./shm_write
please input : how dare you

[root@hadooplO® experiment_005]# ./shm_read
message from shm : how are
message from shm : how dare you
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[root@hadooplP® experiment_005]# ipcs -m

0x00000000 9 16384

Ox00000000 10 2129920
Ox00000000 18 524288
0x00000060 19 524288
Ox00000000 20 2129920
0x00000000 21 524288
0x61034262 22 1028
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